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The images, artist representations, amenities and interior decorations, �?nishes, appliances and furnishings contained in this brochure are provided for illustrative purposes only. Nothing in this broc hure and/or any accompanying document and/or communication from OMNIYAT (whether verbal or in writing) constitutes a promise, r epresen -

tation and/ or warranty in any form whatsoever. OMNIYAT r eserves the right to substitute at any time without notice all or part s of the materials, appliances, equipment, �?xtures and other construction and design details speci �?ed herein with similar materials, appliances, equipment and/or �?xtures of equal or better quality, determined at the 

sole discretion of OMNIYAT. All square footages and dimensions are approximate only and may be subject to change at any time wi thout notice.
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Unit 4A

Typical Layout for Units 301, 501, 701
Type 4A

Jacuzzi Terrace
3.6x8.9m

Terrace
8.8x17.8m

Pool
3.1x6.0m

Master Bedroom

5.0x5.0m

3.1x5.7m

W.I.C
2.3x3.4m

3.0x3.1m

3.0x4.3m

W.I.C
1.6x3.1m

Family Room

Bedroom 4

3.7x4.2m

2.4x2.5m

Bedroom  2

3.7x4.3m

Bedroom  3
3.4x4.3m

2.2x2.4m

2.3x2.4m

Prep Kitchen

3.1x4.3m

Maid's Room
2.8x2.9m

Show Kitchen1.6x2.1m
2.8x4.8m

Family Living
6.0x6.0m

Dining
5.6x6.3m

2.2x2.5m

Foyer

5.7x6.2m
Living

5.1x5.3m

Study
2.8x4.4m

2.2x3.7m

Laundry

1.6x3.1m
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